<)

supcline Model: SF401

Installation Manual

@
Studless TV Wall Mount

NI

N L7
. 11400*400mm ||,
o VESA o

")
1T SS— Ry [ 111

Thank you for choosing Supcline! All our products come with 10 years warranty.
As a manufacturer, we strive to provide you with the highest quality products and
services. If you have any issues during installation and use, please contact us at
supcline@126.com.

We're 24 hours available!


https://manuals.plus/m/bb3987ce23690a314ef541320cd8c2d87d7632c8a67a42d622fb7798579c2c52

Please read this instruction carefully before installation.

If you have any doubts, please feel free to contact our Customer Service
at supcline@126.com.

@® This product is designed for solid concrete/brick wall and drywall.
For wood stud, please check the stud spacing fisrt before installation.

® The wall must be capable of supporting five times the weight of the
TV and mount combined.

® The product contain small parts, do not swallow any accessories,
it may cause choking hazard if swallowed.

@® Incorrect installation may result in product damage or body injury.
Supcline shall bear no responsibility for any damage or injury resulted
from incorrect installation, incorrect assembly or misuse.

Tools Needed (Not Included)

= = —_
e I
@ / j ? : E
(5mm) H' N ¢
© (U]
= Stud Wood 5 Masonry
it Pl ant e deic s QR e o [l e e
Contained Parts and Hardwares
Main Parts
5] N N
v B : > =
@ Wall Plate x7 @ TV Bracket x2 © Bumper x2 O Levelx
Accessories
Q Anchors @ Tapping Screw @ Washers @ Steel Nail
($10*50) x3 (M7*55) x3 ($20*8.5*1.5) x3 ($2.8*50) x18

i

- D ) s
/0 5. ©/@ v, @ v @ saew

(M6*15) x4 (M8*25) x4
(M4*30) x4 (M6*35) x4
Washers ‘D Washers 10mm Spacer Ring 0 5mm Spacer Ring

($18*8.5*5.0) x4

($16%6.5*1.0) x4 ($20%8.5*1.5) x4 ($1878.5*10.0) x4




Step 1: Before Installation

1-1. Check the wall type

Wood studs Drywall Solid concrete or brick walls

1-2 Check your TV VESA pattern (Vesa=Horizontal x Vertical)
Measure the four holes at the back of your TV.

~N

Max:400mm(15.75" ) (
Min:75mm(2.95" ) Please check the ports on the back of
B ) ’ - the TV to avoid potential clogging.
N TTTTTTTTTTTTTTTTTITTATTTTTIITIOIT / * T
0O a -
© Horizontal <\ | © %9 (0)
® Max:400mm(15.75" )
° = o . ° BT (%)
o Min:75mm(2.95" ) % B
- © ©
|
@ R ——
© * “/ 1 TI0 \
y,

1071 I 1111

1-3. Check max load

DO NOT exceed the max load indicated, otherwise it may cause
product damage or body injury.

Step 2: Assemble the Brackets and Bumpers to the TV

2-1 Select the right screws/washers/spacer rings according to the size and depth of the

TV screw holes.

2-2 Figure out the suitable screw combination according to your TV
Combination of screws, washers and spacer rings

Combination of screws and washers




2-3 Attach the brackets

Step 3: Install the Wall Plate on the wall

Option A: Install on wood studs
Note: Only suit for 8"/12"/16" spacing wood studs

/

A y , 8" (203mm) )
<16mm 12"(305mm)
(5/8") 7y, 1t’)"(406mm) MIN Stud Size:

89x38mm
(3.5x1.5 inch)

_J

Z 8" (203mm)
12"(305mm)
7716”

(406mm) =

N N o

=y
e

. ’/ - - B //7: ‘A A 598
: , \w) : 'D’ =
- / K R / k / i % /

@ Position the wall plate at desired height, lever it and mark the holes. Drill holes, then align
the wall plate with drilled holes and install it.




Option B: Install on drywall
Notes: Read carefully before installation

@ All 18 steel nails must be securely tightened to prevent unwanted movement of the wall plate.
® Do not use wall anchors or tapping screws for this mounting option.
® Drywall must be of sound construction with no water damage.

® Do not mount to patches/seams areas, or uneven walls.

® The TV must be placed in the center of the wall plate.

Position the wall plate at desired height, tap a nail into a hole on one side. N

Install the nails at

a downward angle,

and the nails must
pass through both holes.

- /

Lever the wall plate and tap a nail into a hole on the other side. )

- /
~
/




Option C: Install on solid concrete/brick wall

Notes: Read carefully before installation

- N

Min.
8"(203mm)

iR ANAEE )
| -'-X\

: ":":::

6)

J U DANGER )

@ Position the wall plate at desired height.
Lever the wall plate and mark the holes.

-

0
0
=

5 2.50"
(63.50mm)

[ ]

[—
T
\\
T

(L W

@® Drill 3 pilot holes. Make sure the depth is
not less than 3"(75mm). Never drill holes in
the joints between bricks.

/

® Tap the anchors into the drilled holes.
Ensure the anchors are seated flush with the

concrete or brick surface.

- /

~

@ Align the wall plate holes with the drilled
holes and install the wall plate with tapping
Screws.

- /




Step 4: Hang the TV

4-1. Test the stability

g
® Hang the TV on the wall plate, then press forward. Make sure the safety latches are
in the locked position so the TV is securely fastened to the wall plate.




Step 5: Remove the TV

5-1. Pull the strap down to unclock the latches, then pull the bottom of TV away from
the wall plate.

1\

Tl /Unlocked

~ Unlocked [ﬂjﬂ S

5-2. Lift the TV up and take it off.

¥

Made in China Rev.A



